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1. Find each of the following products: ( — 115) x 8 (ii)

O9x (—3) x(—6)(-12) x(—13) x (—5)

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_po20JGIFil2N

2 Evaluate each of  the following products:
(=D x(—2)x(—=3)x(—4) x(—05) (-3)

x (—6) x (—9) x (—12)

° Watch Video Solution

3. Evaluate each of the following products:
(=1 x(—=1) x(—1) x ...50 times

(—1)x(—1) x(—1) x...151 times

° Watch Video Solution

4. Find the value of 15625 x ( — 2) + ( — 15625) x 98

° Watch Video Solution



https://dl.doubtnut.com/l/_o0FkjVHGS6YC
https://dl.doubtnut.com/l/_Xb344Mx6sEyM
https://dl.doubtnut.com/l/_S0YzutjfHAaN
https://dl.doubtnut.com/l/_5hOwnmqXmixJ

5. Determine each of the following products: (i) 12 x 7 (ii)

(—15) x 8

° Watch Video Solution

6. Determine each of the following products: (i) ( — 25) x ( — 9)

(i) 125 x ( — 8)

° Watch Video Solution

7. Find each of the following products: (i) 3 x ( — 8) x 5 (ii)

9x (—3)x(—6)

° Watch Video Solution



https://dl.doubtnut.com/l/_5hOwnmqXmixJ
https://dl.doubtnut.com/l/_7mummD5TLVgC
https://dl.doubtnut.com/l/_RlWV5hKIr0WB

8. Find each of the following products:
M (—2) x36x(—5)

(i(—2)x(—4) x(—6) x(—28)

° Watch Video Solution

9. Find the value of:
(i) 1487 x 327 + ( — 487) x 327

(ii) 28945 x 99 — ( — 28945)

° Watch Video Solution

10. Complete the following multiplication table: Is the
multiplication table symmetrical about the diagonal joining the

upper left corner to the lower right corner?
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https://dl.doubtnut.com/l/_0fXzy36GYjx1
https://dl.doubtnut.com/l/_mE6XvZW0O2Mf
https://dl.doubtnut.com/l/_ir8j6Za4wilm
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11. Determine the integer whose product with —1 is (i) 58 (ii) O

(iii) -225

° Watch Video Solution

12. What will be the sign of the product if we multiply together (i)
8 negative integers and 1 positive integers? (ii) 21 negative
integers and 3 positive integers? (iii) 199 negative integers and 10

positive integers?

° Watch Video Solution

13. State which is greater: (i) (8 +9) x 10 and 8 + 9 x 10 (ii)

(8—9) x 10 and 8 —9 x 10 (iii) {( —2) — 5} x (— 6) and


https://dl.doubtnut.com/l/_ir8j6Za4wilm
https://dl.doubtnut.com/l/_sqZ7Nn9tkgHW
https://dl.doubtnut.com/l/_sY355V6N0Rej
https://dl.doubtnut.com/l/_LGUqIaCJK9VN

(=2)=5x(-6)

° Watch Video Solution

4. (i) If ax(—1) = —30, is the integer a positive or
negative? (ii) If a x ( — 1) = 30, is the integer a positive or

negative?

° Watch Video Solution

15. Verify the following: (i)
I9x{7T+(—-3)}=19x7+19 x ( —3) (i)

(=2){(—=5)+(+19)}=(—23) x(—5)+(—23) x (+19)

° Watch Video Solution



https://dl.doubtnut.com/l/_LGUqIaCJK9VN
https://dl.doubtnut.com/l/_XCb129kMefcT
https://dl.doubtnut.com/l/_2OF6tDHW2qML

16. Which of the following statement are true? (i) The product of
a positive and negative integer is negative. (ii) The product of
three negative integers is a negative integer. (iii) Of the two
integers, if one is negative, then their product must be positive.
(iv) For all non-zero integers a and b,a x b is always greater
than either a or b. (v) The product of a negative and a positive
integer may be zero. (vi) There does not exist an integer b such

thatfora > 1,a xb=bx a = b.

o Watch Video Solution

17. Divide: (i) 84 by 7 (ii) -91 by 13 (iii) -98 by

-14 (iv) 324 by -27

° Watch Video Solution



https://dl.doubtnut.com/l/_kN5yTbT4kX7F
https://dl.doubtnut.com/l/_SD8uja4ETeAq

18. Find the quotient in each of the following: (i) ( — 1728) + 12

(ii) ( — 15625) = ( — 125) (iii) 30000 = ( — 100)

° Watch Video Solution

19. Find the value of (i) [32+2x 174+ ( —6)] + 15 (ii)

|| — 17| + 17| + || — 25| — 42|

° Watch Video Solution

20. Simplify : {36 = ( — 9)} = {( — 24) = 6}

° Watch Video Solution

21. Divide: (i) 102 by 17 (i) -85by 5
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https://dl.doubtnut.com/l/_v1SteG4O3LGH
https://dl.doubtnut.com/l/_X9EtBca79E1F
https://dl.doubtnut.com/l/_85LGiIycvVVG
https://dl.doubtnut.com/l/_bZ80m0aLe1r5
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22. Divide:

(i) -161 by -23 (ii) 76 by -19

° Watch Video Solution

23. Divide: 17654 by -17654 (i1) (-729) by (-27)

° Watch Video Solution

24. Divide: 21590 by -10 (ii) 0 by -135

° Watch Video Solution



https://dl.doubtnut.com/l/_bZ80m0aLe1r5
https://dl.doubtnut.com/l/_HYB3dlOb8HB2
https://dl.doubtnut.com/l/_czNhf1LxW4rG
https://dl.doubtnut.com/l/_h7ps9LJ7HXO9

25.Fill in the blanks: (i) 296 + ... = — 148 (ii) —88 = ... =11

° Watch Video Solution

26.Fill in the blanks: (i) 84 <+ ... = 12(ii)... + —5 =25

° Watch Video Solution

27.Fill in the blanks: (i) ... =156 = — 2(ii) ... + 567 = —1

° Watch Video Solution

28. Which of the following statement are true? 04 = 0 (ii)

0+(-7 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_pooXiKRp7TZ7
https://dl.doubtnut.com/l/_0lRQ0xpXmdOG
https://dl.doubtnut.com/l/_Kcvu3PIUhsSW
https://dl.doubtnut.com/l/_ouLbwCE6phQK

29. Which of the following statement are true? —15 < 0 = 0 (ii)

0+-0=0

° Watch Video Solution

30. Which of the following statement are

(—8)=(—-1) = —8(ii)—8+(—-2)=4

true?

° Watch Video Solution

31.Simplify: 24 — 4+ 2 x 3

° Watch Video Solution



https://dl.doubtnut.com/l/_ouLbwCE6phQK
https://dl.doubtnut.com/l/_wvvO3PTv0lgF
https://dl.doubtnut.com/l/_y31Fx6VKDFYJ
https://dl.doubtnut.com/l/_tl4HHlXdBlEH

32.Simplify: (—20) + (—8) =~ (—2) x 3

o Watch Video Solution

33, Simplify: (—5) — (—48) ~ (—16) + (—2) x 6

° Watch Video Solution

34.Find the valueof 36 -6 +32.24 + 15+ 3

o Watch Video Solution

35. Find the value of 120 — 20 + 42.32 — (3 x 5) + 4

° Watch Video Solution



https://dl.doubtnut.com/l/_eTiOvnPRcfye
https://dl.doubtnut.com/l/_ymZi5EZCCKhG
https://dl.doubtnut.com/l/_verjanw2Ubi0
https://dl.doubtnut.com/l/_0gImxu8e2KsP
https://dl.doubtnut.com/l/_nAFIf93iiOPu

36. Find the valueof 3 — (5 — 6+ 3) 2.21 — 12+ 3 x 2

° Watch Video Solution

37.Find thevalueof 16 + 8 ~+4 — 2 x 32.28 — 5 X 6 + 2

0 Watch Video Solution

38. Find the wvalue of (—20)x(—1)+(—28)+7

(=2)+(-8)+(-4)

° Watch Video Solution

39. Find the value of (—15)+4+(5—-3) 2.

(—40) x (—1)+(—28) =7
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https://dl.doubtnut.com/l/_nAFIf93iiOPu
https://dl.doubtnut.com/l/_xJ4kfzj2309q
https://dl.doubtnut.com/l/_lquymsG7x8YY
https://dl.doubtnut.com/l/_frPRdmSX5oP2
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40. Find the value of (—3)+(—8) +(—4) —2x(—2)

(=3)x (=49 +(-2)+(-1

° Watch Video Solution

41. Simplify : 27 — [5 + {28 — (29 — 7)}]

° Watch Video Solution

42.Simplify: 48 — [18 — {16 — (5 — 4 —1)}]

o Watch Video Solution



https://dl.doubtnut.com/l/_frPRdmSX5oP2
https://dl.doubtnut.com/l/_5vNAdK9A4DDg
https://dl.doubtnut.com/l/_zRpgZiK1YDkr
https://dl.doubtnut.com/l/_DzCcDvIHvxd4

43. Simplify: 222 — [%{42 + (56 — (8 +9))} + 108

° Watch Video Solution

44, Simplify: 39 — [23 — {29 — 17 — 9 — 3) }]

° Watch Video Solution

45.Simplify: 118 — [121 = (11 x 11) — (—4) — {3 -9 — 2}

° Watch Video Solution

46. Simplify each of the following: 3—(5—-6-+3) 2.

—25+ 14 + (5 — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_pB1dJnZmoG0B
https://dl.doubtnut.com/l/_IeCne14UjQ0A
https://dl.doubtnut.com/l/_o5Tie2wbCO17
https://dl.doubtnut.com/l/_dzSZDEj0Kq1Q

47. Simplify each of the following:
1
25 — 5{5+4—(3+2—1+3)}
27 — [38 — {46 — (15 — 13 — 2)}]
° Watch Video Solution
48. Simplify each of the following:
36 — [18 — {14 — (15 — 4 + 2 x 2)}]
45 — [38 — {60 +~ 3 — (6 — 9 + 3) + 3}
° Watch Video Solution
49, Simplify each of the following:

23 — [23 — {23 — (23 — 23 — 23)}]

2550 — [510 — {270 — (90 — 80 + 70)}]


https://dl.doubtnut.com/l/_dzSZDEj0Kq1Q
https://dl.doubtnut.com/l/_hqTgL19yjodO
https://dl.doubtnut.com/l/_JTiSP5BzMSF1
https://dl.doubtnut.com/l/_0vNSeYV0FpZ8

° Watch Video Solution

50. Simplify each of the following:
1
4-I—g[{—10>< (256 —13—-3)} + ( — 5)]

22—%{—5—(—48)%(—16)}

° Watch Video Solution

51. Simplify each of the following:
633{ —2—-8—-3}+3{6+(—-2)(—-1)}

29 - (=2{6 - (7=3)}] + Bx{6+(-3) x(—-2)]]

° Watch Video Solution



https://dl.doubtnut.com/l/_0vNSeYV0FpZ8
https://dl.doubtnut.com/l/_PGt0hDz8hmfv
https://dl.doubtnut.com/l/_A1aha93InU7o

52. Using brackets, write a mathematical expression for each of
the following:

(1) Nine multiplied by the sum of two and five.

(2) Twelve divided by the sum of one and three.

(3) Twenty divided by the difference of seven and two.

(4) Eight subtracted from the product of two and three.

(5) Forty divided by one more than the sum of nine and ten.

(6.) Two multiplied by one less than the difference of nineteen

and six.

o Watch Video Solution



https://dl.doubtnut.com/l/_t3vGKACoL3G0

